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1. (a)  Explain four differences between cost accounting and financial accounting.
(% marks)
(bY  Sortum Limited uses material PX in its production, On 1 May 2018, the opening
inventory was 110 units valued at Ksh. 12,650, The following transactions relate to the
material for the month of May 2018,
May
4 Purchased 400 units at Ksh. 120 each
13 Issued 270 units
17 Purchased 140 units at Ksh. 115 each
18 Purchased 420 onits at Ksh. 114 each
20 Issued 580 units
22 lIssued 60 units
24 Purchased 145 units at Ksh. 118 each
Y24 Issued 35 units
28 Issued 165 units
30 Purchased 210 units at Ksh. 112 each
The firm uses Last in First Out (LIFO) in valuing materials issue.
Prepare a stores ledger account for the month of May 20113, {12 marks)
- X {a)  Explain four disadvantages of time rate method of remuneration. (& marks)
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{b)  Mema Limited processes oil which passes through Process | and Process 1l o
completion, On 1 May 2018, Process 1l had an opening inventory of 30,000 units with
the following costs:

Materials

Labour
Owverheads

Ksh.
200,000
150,000
260,000

During the month 10,000 units were passed from Process | to Process 1. The costs

incurred were;

Materials
Labour
dverheads

Ksh.
240,000
0%, 400
228,000

34,000 units were completed and transferred w finished goods account. Al the end of the

month there were 6,000 units, at the following level of completion:

Materials
Labour
Overheads

Percentage of completion
100%%

7%

50%

{1) Determine the equivalent units of each of the following element ol cost:

(1)
(1)
(111}

(ii) Determine the value of closing Work in Progress (WIP).

matenals:

labour;

owverheads.

(iii)  Prepare Process I account,
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easytvet.com:
1. {a) Explain the difference between each of the following costs:
(1} controllable costs and non-controlleble costs,
(11} fixed cosis and vanable costs;
{iii)  direct costs and indirect costs;

(iv)  produchion costs and admimistration costs. |
(& muarks) r

(b} Diba Constructors was contracied by Xemat Limited to build an office block at a price
of Ksh. 5,000,000, The following information relates to the contract for the year ended

31 December 2017.
Balances as at | January 2017: ksh ‘
- Malenals on sile | 81,00 3
* . Plant on site 1, R0, D00 |
Plant on purchises 2,000, 000
Subcontractors' foe 50,000 1
Value of work certified 4. (00, 000
Direct wages 300,100
Materiils purchased 400,00
Inspection aml consultancy fee B0, (00
Hire of machimnery 1 50, GO}
General expenses 420,000
Cost of work not yet certified L, 2000 O
Electricity paid 200,000

Additional information:

(i) it is the policy of the company to transfer % ol the notionsl profit to the meome
statement,

(i) As al 31 Decembwer 2017

«  Materials an sife Esh, 250,000
«  Plant on site Esh. 2,200,000
¢ Electnicity paid madvance  Ksh, 155,200

Prepare a contract account for the year ended 31 December 2007
(12 marks)
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4. {a) Explain feur characteristics of an effective cost accounting system. (& marks)
(b)  Wangari Limited operates three production departments (mixing, assembly and
packing) and two service departments mainteniance and canteen. The budgeted costs

arid the activity for each department is as follows:

Production Department Service Deparitment

Mixing Assembly Packaging Maintenance Canieen

Total overheads 2,000,000 1,200,000 800,000 HE0, (0 400,000
(Ksh.)

Number of employees 20 15 3 .
Machine hours 1 5,000 13,0030 12,000 - .

The servive department costs are directly re-apportioned to the production departments,

Determine the total overheads in each production departrment. { 12 marks)

LM

{a)  Expiain four factors to be considered when selecting the basis of absorbing overheads.
(B marks)

{b)  Feta Limited uses batch costing m its production, The following are the budgets for the

year 2020.

Budgeted overheads Budgeted hours
Departments ksh.
Manufactunng REO,000 2,200
Machmning 500,004 2,000
Assembly 360,000 1,800

The company received an order for 26,300 units, batch number B12, The following
information relates to the batch.

Direct materials: Ksh., 290,000

Direct Labour Manufacturing Machining Assembly
Hours worked 200 170 120
Cost per hour (Ksh,) 160 150 100

(i} Prepare a batch cost stalement;

{ii}  Determine the cost per unit.
{12 marks)
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easytvet.com:
. fa)  Explain four reasons for the valuation of inventory in an organization. (8 marks)

(b)  Mjenz Limited remunerates its employees on a time rate basis. The following
information relates to three employees for the first week of January, 2018,

Sema Rudi Peti
Total hours worked 36 42 39
Standard hours per unit 2 i 1.5
Ontput (units) 20 15 26

Additional information:

. The stundard hours per week is 40 hours.

. The basic wage rate 15 Ksh, 100 per hour,

- Bonus is paid at 30% of the basic wage rate,

. Owventime is paid at a time and half of the basic wage rate.
For each employee detenmine the:
(i basic wage payable;

(i)  pross wage payable.
(12 marks)
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T. ia) Explain four features of factory job cosling. (% marks)

ih}) Sherche Limited provides catenng services for events in Nairobi,

The firm has received an order from a customer to serve 80 persons at a price of
Ksh. 30,000. The following are the estimates for the order.

Cost of food purchased Ksh. 19,000

MNumber of waiters | waiter for every 20 persons
Number of cooks 3 cooks

Wapges per waiter Ksh. 500

Wages per cook Ksh. 1,000

Transportation of equipment and staff Ksh, 6,000

Cost of hinng equipment Ksh. 8,000

(i) . Prepare a cost statement for the order;
(i}  Adwvise the management on whether to accept the order or not.

(12 marks)
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